Quad 5 Answers

Quadratics and turning points p.9

o) g7 wext
Y = 4w
w =\

, J=>(."
J') 21=9uk
k=1
;_J‘—gbz
K‘ |z ¢
K=\

l"l [

- D;—L:],
2@)32}_‘-"2
Fly=r-2
X-

L) 3- K
D=3>‘_;

9) “9= Ik
k=-|
-. ‘73“1}

L) 3=9x

- |
&

3

::‘g—x"
b) VE Phed|

9) U:LL"J-I

) s=k d) 6= Lu e) 207= 4w
. = 5yt Kz 3 k= S
..J— X 2_3 . '.“7:51;
D'._z_)l
e O Bk 3 274
k= -2 \7= -’ k=<
3:—&1} x J"'sz
M) 360 9w n)—loo: HK D)—|7--' (FA74
=4 k=-26 W= -_g‘;
I 2 . - - b . -
Rl l-y=-1Sx o
c)‘\j:)!,"-l-l.s 0('):]:_11*5 ) y<-x*+3
: =3a%+2 Jy)yz2x*-3
Qoseey Yy I

(,) y=-lx ¥ ~) ‘,7:'_"'1"'3

n) ¥=-3%_,



	Page 1

